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% 1-Ueh W WA F fohae Shetldt Foit gt 82(A) 2 et (B) 3
FeAY (C)4 et (D)5 hert

U 2 - Ry Ay faer@a & et & grar 82(A) faerfi=-A
(B)faer®=-B(C) faarfim-C (D) fae1f@=-D

ugr 3-fIy Wy Raw gamar Sar g--(A)5 sidd (B)6 smie (C)7
e (D)8 3mte

UH-4 -G FAR dl fhd 31 % Foar | Sd 82(A)Hid 31 & FHea
b1

(B)&R 11 & Frear H(C)dTet 1 & Foar #(D)fewredt off a1 7
u%-5-37 @ fohg TeaR & e § giaT 82(A)

(B)uStsT gfIed (C) gt (D)awfet 3foredt

u-6 -3y <frarer faq w=man Sirar 8-

(A)19 S (B)19 3T (C€)19 fawr

(D)19 TR

U --7 @I EA Hidd1 & @RAT §--A-Fdapra Brurét Frrer
B- MuTel & FRSIC-Hgredt anf D-fAefta

UH--8 Uy & AR 2/eg §-- A-- |1, B- - Wg C--H7T D- -9t
UH--9 A g TS, drcher fovg sy @ Gwifda 82A- -AfogR
B-- 3R C- - ATEIE D- - RiRA

UY 10 TR S Afi?A- -3t B- -7} C- -G

D- 2mfyehr

U 11 Sitan dalfd 7 weofi:--A- - diemget B- - e C- - famae
D- -9

U 12 3 UTd: Ugarg---A- - el B- - S C- a1 D- -

Q.13 Name the Indian Freedom Fighter who is known as
Neta Ji?A) MK Gandhi B) APJ Abdul Kalam C) SC Bose D)
None

Q.14 Choose the correct Antonym (opposite) of the word
written in *bold*The Rock is *hard* but the wool is

A) deep B) soft C) sharp D) heavy

Q.15 The famous slogan given by SC Bose was-A) "Do or

Die" B) "Inquilab Zindabad" C) "Give me blood and Il give

you Freedom" D)"Vande Mataram"

Q.16 Inspite of the physical disabilities, they/he/she were/

was famous in the field..A) Sudha Chandran B) Arunima

SinhaC) Bharat Kumar D) all of above

Q.17 Which pair of word meaning matches correct.A)

Famous- braveB) disabled- popularC) inspiration -

motivation D) injured- confident

Q.18 Who inspired Shalu to participate in Sports Rally?A)

Veena B) Neha C)Arun D) Ram

U 19- x+2=3 & ggar R sft--(A)x & 74 WR(B)2 & 71

WR(C)3 & A WR(D)FH A HE TEl

u 20-fordt g & 5 S wR 15 Wi giar 8,d8 & g--(A)8

(B)9

(C)10 (D)11

U 21-39 & 39 @H ¥ 5 ¥ aifdeh 8,afE 7\ i aduHe 39 28 ad

&, | & adaE 39 g--(A) 20 af (B)21 af (C)22 af (D)23

aef

U 7 22--ag R, fordht i ofeid e €, dwgeran 8-(A)aEigaTg

g (B)m@ﬁaa (C)ﬁwgmﬁwo)am TEl T

U423 - Qe GHRIUT A o &I hI0T SRT6R 8,311 hior fohd=r-foha=t

mr%%?(A)%oH;z,% %49 45%%) 50°, sg(%s[w 90°

UH-24-Th Y g

& AR &, aﬁﬁ‘gﬁaa’ﬂm%?(A)gT (B)T&l (C)A ?B
QHi(D)gH F i TE

H 25- gurdifed omfial A-amR: B-aldh: C-Tl: D-3eieh: |

26-Freh: T¢ faedam- A- Sie B- 3/@H C-UTSTURaUeI D-

27----- e Ud g ATy afd? A-4maur A1 B- Fifde
A8 C-37 A D- BIeTH 711

Y 28 -YRAW U faufh: sfEa?

A-wmr B-fEdfiar ¢-wet D-gwaet

U 29 3Fd I STAq? A-FAB- A C- BRI D- FIYAT
U 30 91y Ty fIedi reg: HfE-A- Foo: B - Fr-e: C-
Hgsi: D. - 3Ty s -

U 31 -7 A T HRITIS AT?(A) (B Sul
(C)afa < (D)yfafe g

u%r 32-fohg g1 & MeRT 7 3u SifNeRal Ud Qg | s+ A
& Ty g U=t Jrar o A oft sifehd aRarar?

(A)HRS g1 (B)SJTT @ (C)HTcarg g1 (D)aud a2

% 33-999 Uget URA H I & [&a<h fohg ot famar?

(A fdsfrag

(B)Felercheithad (C)fSAfeaw (D) &fAwh

UY F 34--T0T 7 A Fircre s # foRg A0 § YHRT ST 82
(A)gimat (B)HeAT

(C)SgAT (D)usT

UH-35-3veHH 3R FdeaR g1 99 ¥a 8--(A)3Ra arR &
(B)sTet &t @rSt # (C)T ORI i @il #(D)HaR &t @ret &
H-36-fay & gad 3ifde auf gidt &

(A)agR H(B)*RaqR H(C)RifR—m d

(D)fret |

o 3;-2m$ﬂ%mﬁamﬁa%mm%—-(A)%ﬁéagﬁzﬂ?
e

(B)Afeat & die fivraw (C)u=f & (D) Hrer sl &

u% 38-7al § Aferal @ fAche aret 71 Sl l IUATRT A 8-
(A)He reft & Fgra(B)He areal F FgraR (C)TSH IR JgTax
(D) TRt a1

u 39-7ial § Aferat o fAmfor ik Ikt Fafa awrs o o
IRIT ST -(A) & UaTad ZIR1(B)IT Uarad gIRT

(C)fSie darad gIR1(D) AR UtfeiehT gRT

U = 40- -89 AT &Rl T1eY -(A) ufafe (B)asft-

&t (C)ert 8T (D)haet Uah A

UH-41 -1 & qid Ul 34l q3d d1& T gl el ATfey-
(A1 (B)EM(C) Wi 3R EF(D)3H & dis T8l
-4 2 -TR1EAY A7 fehadht ot @ giar 82(A)TE cht et
J(B)aar H FHt F

(C)feTfradht et J(D)wETerRge At wH &

43-919T YR & °YS &1 T A1 AUT?

(A)ged (B) ¥des (C)3y (D) Wrad

44-79 A TE T | i 1 Sfar] Teres 82(A) wieHead
(B) wierafle (C)fSisfiafers (D)nmgsht wieg

45-F=ft Ht ift & Fam Fgd §2(A) Axe (B)Knife
(C)Scissors (D)Spoon

46 -TarH} fadepre &t St At STt 8-(A) 9STadt
(B)10Sa<}(C) 1 15Ha%t (D) 125a<t

47 - 3R ol gAY ez gim---

(A) UT: (B) UTdaR (C) WraaH (D)Iusieh Tt

48- 38 YE Feh A SIANTSY T3 1 3 d 8-(A)6.8
(B)7.8 (C)8.8 (D)9.8

49-& it 2oft # ysaraes R & W9 W 4 491 3ich ghm?
1,3,6,10,721

(A)22 (B)21 (C)11 (D)15

50-8Y €@t & aeh § foha-it diferat gidt 82(A)14 (B)23
(C)21 (D)24




U 1 - gy, ®e, Ywfofers onfe &-
(A)sfiary (B)diRe (C) ehaeh(D)rs<

U 2 -fawmoy Sifa 39T 8-(A)FEs (B)AfEE (C) @i (D) fewefifan
O 3-399 & TArRY 7 78T 2-(A) 891 (B)Er+aft+(C) T (D)FR
-4 -9 A fhaa uar & gYft 82(A)4 TR Fi (B)S URR &Y

(C)6 WahR &l (D)7 WehR i

UH-5 -1, fohd UehR o1 I<iietes 82 (A)UYH UHR & (B)gda gar

hl
(C)gefr R 1(D)FTH & I gl

UH-6 -A¢ dice fohe R R &1 awar g2(A)ufgar ¢t (B)fer-t

(C)ge < (D)=

U 7- FAS @ o 8-A- st B-fagm C-urae D- aaramar
U 8 Hfd g@e ugdl & forg @ =&t argm?A-fay & wwfa B-

Wusgr
C- ¢rafg D-ade

-9 SHAMER Usg Y W araeh g3 giifl-A- fSmterst B-$amerRt C-

gageRt D-fewderd

Uy 10- ufday 1 Jelrs @ 7 ST dch 1 HARIT ST @ ?A - ggfaror

feew B-g7 #gla C-=ed1 fiaq D-FfY Aglqa

U 11 g9 hY & IR TAT hgelTdl &--A- a= Tiores B- gt C-

g9 Trefeh D-ATeft

U 12 & g g fEa?A - - #74: B- gT: C-a1g: D-9R:
Q.13 Who is known as *Lady with the Lamp*A) Florence

Nightingale
B) Sarojini Naidu C) both D) none

Q.14 If people of India are called as Indians then the people
of China are called..A) Chini B) Chinese C) Chinian D) All are

correct

Q.15 Why did Rubina stopped going to school? A) she was

sick

B) her parents didn't allow C) she was poor D) her father

was very sick

Q.16 *Rashtriya Swasthya Beema Yojna* is related withA)
free health treatment,B) free education C) free fooding D)

free clothing
Q.17 Fill in the blank-

She completed her studies without any _______.A) gratitude

B) excel C) hurdle D) starving
Q.18 Fill the correct pair of conjunctions.

Seema keeps her room neat tidy Ram keeps his
room very dirty.A) and, and B) and, but C) but, and D) but,

but

UH 19-TST & 3f=d: hITT T T graT 8--(A)180°(B)270°

(C)360°(D)220°
U 20-3fE TSt & Sidt: HI0T T AT 3:4:5:6

g at udes ahivT a1 ghm--(A)60,80,100,120(B)80,60,

100,120(€)100,120,80,60 (D)120,100,80,60

vy 21-3fe [t aif & faeeof @1 arf 50 &f It 8, swa uRemg

ghm—(A)30 @+t(B)20 @+t(C)25 a+(D)35 a+

UH F 22--9d & a9 grRIsTdgT & fhet fawg R a1 ator giar 8-(A)

AT (B)SATAHeRIT (C) AR (D)3 & HIE et

UH-23- E\:ﬁ &1 3T ghar 8--(A)120° (B) 180°(C)270° (D) 360°
g # g 39 foheft gamy &1 sigmm 70° 8,dt 39k
&y a1 SIRIATY g--(A)270° (B)280°(C)290° (D)360°

UH-24-

UH 26 ¥H ¥ 3ifea--A- fiar B-fR=ar C-arar D-7:
U 27 I, Iga<t ol Hf?

A-3: B-fRI=1C-2aem D-afa:

Uy 28 fausgemar ufa: &: JRfq?

A-3d: B-@at: C-31f3+t D-diRure:

g 29 IR A o Sif@--A- dR St B- 9k AranC-
7q Y D-FHIRE|

% 30 99 U< § i 4t faufe 8?2

A-taHt B-wel C-agff D-wumr

U 31-9Hud & fEdta gg gam o

(A)1555 $+(B)1556 $+(C)1557 e

(D)1558 %-

U 32-'1 F SR R g7t areg A erars off?
(A)STERfR(B)gHRL

(C) 3R (D)2MgSTal

U 33-3ATRT § drotHge ol fAmfor fohaa awarar 9t?
(A)sTEhR

(B) 3fehsi(C)R2ME T (D)2mesigt

U A 34- -8 SHeId & UHE AdEd §--
(A)IIRYT(B)3TRAE

(C)3M(D)amIR

UH-35-9di 3nhie & urft S areft SHoifa 8-(A)Fars
(B)gran(C)&uTet (D)faft

UH-36-ar uer & auf gidt g(A)fa kg # (B)feH *g
# (C)gAd g # (D)ay R

% 37-d & U § a=-a1 faerfde fear g2(A) f[efaa
A (B)

(O)feerfd= C (D)fderf@= D

uy 38-fay a1 Rag w=ran Smar 8-(A) 21 SHa (B) 21
wad (C) 21 | (D) 21 3me

U 39-Ugfd Sid Ui & ahl=-a1 A7 grar 8-(A)diferan
(B)gH1(C)@HT (D)FR

U 7 40--9Rd & Gfaym 97 J IEES o IRy
O UT--(A)20 s 1946(B)21 Jelr§ 1947

(C)22 1§ 1947(D)25 1949

H-41 - 3ciftes & ufaaifiar & amr o9 areit
v R wfger §--(A)dt dt Ry (B) Gt awmreR(C)dar
Hferes (D)arT Agard

UH-42 -ETH foha ddve # g1 g1 F1fRY--(A) 49 Jhve
(B)50 ¥hvg

(C)51 ¥FUe (D)52 FHvs

43-gSwT GIgdT & TR Ausfhy asu # §2(A)gRarn (B)
U (C)farer (D) <k

44-Blue cow frd shgd 82(A) Fefma(B) STelt Mg
(C)-ftermr (D) uTer, TR

45 -8 gar a9 wa waman Srar 8?2

(A)13 (B)12 SHadt (C)14 SHadt (D)10 SHadt
46 - T ueft ST gz &R A8t Radn? (A)wad (B)sfae
(C)ahgcR (D)Iee],

47- mmmamM(A)W(B)m(C)m
(D)sifE

48- Rl T & 10%Td 5%dr 3iaR 20 § af ag T
giM-(A)400 (B)200(C)450 (D)250

49-3} mft Soft & usaras R & W W &9 T1 35k
8m?5,12,7,14,9,16,?

(A)10 (B)11 (C)17 (D)18

50-2ugR & Brar H dars et gt 82

UY-25 - U+ IRt e @ 741 A2 a1 A- ST B-UsHIa, (A)ged e (B)Hed & (C)fdcde T8 (D)aRTeR

C-UraHta D-uad: |
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U 1-EA &1 Ui 8-(A) K (B) C (C)Cr (D)Kr

UH 2-FSRaH UTpfach uard g-(A)eiter (B)ueer(C)ERT (D) T

U 3-UATRIAT § &4 JTell Ugall drai-iah difieh o-(A)SHifar (B)IhTge
(C)5e= (D)gfar

USH-4-Rd &l UGl ddl H3il el @ral Ta1?(A)IRerg( B)awet(C) 3/
(D) U

TH-5-Teretesite & Rama &1 gdr & & T 398 @t=-ar Tearer geref
mﬁ-@a ST 82(A)QfIe FRae (B)ARIT wRae(C)Hiftet AR
(D)

UH-6-Ufdd § TR drel uerd 8-(A)FerdiA (B)aRa (C)fommrge
(D)hTE

U 07- a1 71 &l IS W g--A- ESR B- spRdearC- Mwdt @
D-femrera

U 08 & & Gaiar Ueg g--A-gdl

B- =1&IC- &Rt D- UrT

U 09- fagmm @ onf 8--A- ueft B- u@

C-g&1 D-3(RT

U 10- g FH a1 82A-g8&

B-ffeaic- #& D- &=

UY 11 AU gRar

g ?A- Jge URAR:B-Yahet URaR:

C-3meef ufRar:D - ufie ufkar:

uH 12 a1 & el g g-A-awn

B-dq C- dfw D-affw

Q.13- Name the person who gave India wings?A) JRD Tata B)
MK Gandhi C) Pt. Nehru D) APJ Kalam

Q.14 Fill the correct pair of Prepositions.He was born ____ Paris
July 29,1904.A) in,in B) in,on C)on,in

D) on,on

Q.15- M.C.Mary Kom is also known as -A) 1 dollar child B)
500Rs. Note

C) Crorepati of India D) Million Rupee baby

Q.16 Put the correct form of verb in the sentence.lt is 8:30 PM
now. You _____ your train.A) miss B) missed C) missing D)
none

Q.17 Choose the correct word-

The train was passing ______ the tunnel.A) across B) through ()
between D) on

Q.18 Tick the wrong pair of player with which she is associated.
A) MC Mary Kom - Boxing B) PT Usha - Athlete C) Sania Mirza -
Lawn Tennis D) Geeta Phogat - Hockey

UM 19-Tdh aihR A &l &A%l 225 aHier g139a ufRmmg ghm-
(A)50 Htez(B)55 #Hter (C)60 Hiex (D)65 Hier

U 20-9g &A1 F1d HIfSIg St 3+ Feshd & a&R 8 I(A)+1(B)- 1
(C)0 (D)A @ B &

UY 21-3289 &l F© Afhdl # 39 UaR fadaRd @ ¢ f e aafch &l
334 & Fud e oot eafral &t oot G @ reafwal &t @t 8-(A)17
(B)18(C)19 (D)21

UH A 22--95h1a IS & FHE 0N Gl ANTHA sidT g--(A)120°
(B)160°

(C)180°(D)360°

U%-23-10 It a1 &1 U 99 8139 g9 Al U SitdT dvs o 8 It
ataaagng g ISftar &t v ghfi-(A)12 It (B)13 4t (C)15
(D)18

UH-24-7f 5t 9qds & a1 i 0 &t 99 W 8 af a8 TS

gl g--
(AT =q3f= (B) g4 (C) whrg ags (D)3 @ g 7ol
uH-25-anl fag far : §F A2 (A)IRIUTE (B) TR

(C)d@"S, (D) Shr-gR

U 26- dRIUH! AR UG Al<H_ 3HEd-(A) GRS
(B)amrefifasme
(C)¢fiRm Sft (D) AgTehTedt
UM 27- et 1 # i & fefm 82(A) el (B)wife (C)
HfefT (D)
UH 28-HRA HE I8 2 (A)TH-HHR
(B)ISTTE(C) fewTaret (D) IR
U 29- FRAA gg: HAH a¥ 3¥dd?
(A) 293¢ (B)2]_1(C) 8]%% (D) Q000
U 30- TSTYRY: 3fd U TEE: sifeq--
(A) &HuRT (B) (C) &< (D)HAER &<
U 31-9Rd § GAUYH 37 arel JIdtg A1art 9--(A) s
(B)gaTTet (C)sriftet (D)s=
U 32 - R H g hd g1 U?2(A)1757 $+(B)1759
§+(C)17613+(D)1764 §-
U 33-'9e AT’ 1fia & w@fiar §-(A)ea iy &k
(B)aret TimeR faetes (C)dfdrwram: gestt (D)l drsTad T
U 7 34-TRFR gRI iferat &t 5 § Mg & forw ooy
giferat a9 gemar 51 81 8-(A)1992 |(B)1993 &
(C)1994 |/(D)1995 &
35-Rdt a9 & A Hgl U A1d 8 2(A)sifeeferar (B)afaor
3RIeRT (C)&9 (D)3rféraT
UH-36-"gHATSH g-(A)Teh Sitd(B)Teh g&i(C)Teh STl
(D)t 771
U 37 - gafaRur i GREM dl &1 # T@IR IR H T8
dchich ol hed 8--
(A)Fatth-geft deheitch(B)3ahithwaett dahriich - (C)amaithraat!
daites (D)fSraith-selt daian
U 38-Tel+3 St &l QT ATH T 8?
(A)Light Emitting Diode (B)Little English
Diode(C)Little Emergency Diode(D)Light Emergency
Diode
U 39-Tdd faem & fau fhae Tremr smasas 8?2
(A)eTt et
(B)Tghl &I(C)EaTe=T Sh1(D)3H & i3 gl

U = 40- -0 & fhaa 3 gl 82(A)5 (B)6(C) 7 (D)8
UH-4 1 - hH-91 3718 JRRIgS a1 Uigy af=Y ol |fgha ga
W 471 82(A)R&grea (B)raraH (C)gafmyg (D)ashrEad
UH-42 -9 Ueh e | fohd+f IR /9 a1 82(A)10 & 12
gR (B)15 ¥ 18 aR ()20 ¥ 30 ¥R (D)70 & 72 &R
43-gZ 9§ gt deh HSAT T Forvr forg fafdr & giar 82
(A)arerd (B) fafeor (C)3asi=1 (D) 3799 & &l gl
44~ I 1 feaw 7aman STt 8-(A) 155Hadi(B) 16 STt
(C)17 SHa?t (D)18 SHa
45-guH YR sidiker anl 8-(A)gd mRkA (B)gfew
(C)rehar 2T (D)STeRR et
4,6 - ST Dl Hxpd H dgd 5-(A)deh:(B)AUZS: (C)2I2h:
(D)ga:
47-T1gY U HI faeti ghm-(A) SRR (B)dRan(C) &
(D)sraTgH
48- 0.22%! fohg @ @ 1on & f TUrHRd 66 gt STA?
(A)300(B)3200(C)4000 (D)3600
49-¢ Wi 2oft § usiaras g & WH R &4 91 i
gim?4,12,15,5,15,18,6,2(A)17(B)18(C)19 (D)24
50-7% & Jg< # AT Sl F=AT gidt 8-(A)10 (B)12
(C)14 (D)22




